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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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Answer any seven out of ten.

Define: accuracy

Define: sensitivity

Name the methods used for medium resistance measurement
Name the methods used for low resistance measurement.
State any two advantages of PMMC instruments.

State principle of LVDT.

Give balance equation used in bridge methods.

State the disadvantage of Maxwell bridge.

State principle of Thermister.

Name the different types of strain gauges.

State basic requirements of measurement.
OR
State any two limitations of Wheatstone bridge.
For Maxwell capacitance bridge find equivalent resistance and inductance if
R1=600Q, C1=1pF, R2=100Q2, R3=1kQ and Vin=6V,1kHz.
OR
How the range of instrument can be extended in PMMC instruments?
Derive equation of Hays bridge with neat sketch.
OR
Derive equation of Wein bridge with neat sketch.
Draw construction of PMMC type instruments. and give principle.
OR
Draw construction of moving iron type instruments. and give principle.

Draw block diagram of ramp type digital volt meter.
OR
Draw block diagram of integrating type digital volt meter.
List main parts of CRT.
OR
List main parts of DSO.
Draw block diagram of analog oscilloscope.

OR
Draw block diagram of DSO.
Draw diagram of 10X and 100X Probes
OR
Define : 1. Active transducers 2. Passive transducers.

State need of signal conditioning circuit for transducer.
OR
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Give two points in comparison to RTD and Thermister.
Stage advantages, disadvantages and applications of Thermister.

OR
Draw the diagram of How capacitance of capacitive transducer change. Give
the expression for a capacitance of a capacity transducer.
Explain operation of LVDT using its constructional diagram. Also State
advantages of LVDT.

State the need for signal generator.

Differentiate between pulse wave and square wave generators with their
applications.

Draw block diagram of function generator.

List applications of function generator.
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